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2 Solve for y in terms of x. / e
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3. Find all real solutions if any of each equation:
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4. . Solve and express your answer in interval notation,
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-9 Solve the following inequalities.
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6. / Solve and express your answer ynterval notation. =
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\/7 : Solve the following (Express your answer in interval notation)
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8. Solve the following inequalities.
a. x*-3x+1>3 b. x*+x+4<1 c. 1-x*>3x+4

‘/9,- Solve the followmg (Express your answer in interval notatmn)

2. (+10* -x+2)S0 b 2x'-4x2530x  c.x' >S54y d.16x* -81<0
10.  Solve the following : %
a. x’-2x <3 b. 1-3x* >4 c. 1<x?-2x<3 d.—1<’2x2+3x|52
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Solve the following equations
l-x

a. =2 b. ll-—2x|+‘3+x‘=
X+3

C. [2-3x]=[3+2x

C. [x+2[+|1—x|=2x—1
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